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CO1

Calculate forward and reve s% esistances offered by ,a silicon diode with | 4 | L3 | CO1
I = 100mA at Vg = 50 ssume Vg for silicon dm%& to be 0.75V and

c. | What is piecewise™i

8 | L2 | CO1

approximationtofiddeal diode and practical
Q2 |a 8 | L2 [ CO1
b. 6 | L2 | CO1
c. 6 | L2 | CO1

.,

Module,-2
Q.3 | a. | Explain o%utféharacteristics ofia*; 6 | L2 | CO2
b. DCSCI'IE)P the procedure for' : 1 i i 8 | L2 | CO2

charac’terlstlcs - =

Galculate I and 1§

4 transistor t at has opc = 0.98, IB = 100pA. Also | 6 | L3 | CO2
Boc for the trdnsistor.

o

Q.4 | a. | Explain commc;n Emitter m%ugﬁ,ciaggerlstlcs 6 | L2 | CO2
ey

b. | Explain how transstgr can %if)e used as current amplifier. 6 | L2 | CO2

c. | Explain the working’of N-channel JFET, 8 [L2 | Co2
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Module -3
Q.5 Explain Inverting and Non-inverting amplifier. 8 | L2 | CO2
Define Op-Amp. Mention any 5 ideal characteristics o@a%' ) 6 | L2 | CO2
Draw a summer circuit with Vi = +1V, V, = +3V, = +2V,Ri=R,=R3| 6 | L3 | CO2
= 2KQ. Determine the output voltage when R )
Q.6 Explain the working of op-amp as D1ffere%§tor 8 | L2 | CO2
Define : 6 | L2 | CO2
i) Input offset current
o T
With block diagram, explain bas% structure of an Op, amp. Also write its | 6 | L2 | CO2
equivalent circuit dlagra ,&%
: oA
Q.7 Convert the followi 6 | L2 | CO3
i) (2AB. 8)16 =
i) (416. ;%?% £ )s
i) (25.375%0= ( )2
V) (162 ( )ie
Find comement of the ﬁmction@ N 8 |L2 | CO3
) Fi = xyz'+x'yz i) F, =x(yZ'+yz)
Using De-Morgan’s theorgm.
A
Explain the working of Half adder. 6 |L2 | CO3
Q.8 Express the Boglean function F = A %,B{C in sum of rr&efms 6 | L3 | CO3
Mentlor@mtulates and th@ﬁ of Boolean alg%ra 8 | L2|CO3
I?&am the working of fyli; d“ér \ 6 | L2 | CO3
Q9 6 | L2 | CO4
2 ﬁ o N
Explain the mor]g:gg principle of cﬁ“@@l’(ive pressure transducer. 6 | L2 | CO4
With neat block diagram, el)éplaiﬁ%the working of communication system. 8 | L2 | CO4
N’ _OR
Q.10 Describe a Thermistor and sketch approximate resistance/temperature | 6 | L2 | CO1
characteristics for a&herrmstor
Write a short n;ﬁe%»eéf photo diodes 6 | L2 | CO5
lulation? Describe the need of modulation in communication | 8 | L2 | CO5
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